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Find the X-Intercept and Y-Intercept:
1) x-8y=16 2) -7x+7y=0

3)

A
i
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4) -5x-9y=-45

5) 9x+7y=63 6) 4x

l
o

7) 6x+5y=30 8) -2x+4y=32

Find the X and Y-Intercept(s):
9) 10)
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Find the Slope of the Line
13) y=4x-2 14) -5x+3y=-5
15) y=-5x-2 16) y+4=-4(x-4)
17) -2x-5y=2 18) -3x-y=-+4
19) y=-4x+3 20) y+5=-5(x+3)
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1) y=x-1 | 22) y-3=-3(x+3)

23) " 24)
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-6 -5 -4 -3 2 -1 1 2y -2 -1 1 2 3 4 95 6y
25) y 26) y
. -2 -1 1 2 3 4 35 6
4 -3 -2-1 |71 2 3 ay =
27) The line goes through (-5,3) and (-4,-4) 28) The line goes through (-5,2) and (-5,-3)
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29) The line goes through (-3,-4) and (3,1) 30) The line goes through (-3,-1) and (-3,-3)
31) The line goes through (-5,-3) and (-2,4) 32) The line goes through (1,1) and (-3,-1)
33) The line goes through (-3,-2) and (1,1) 34) The line goes through (-3,3) and (1,2)
35) The line goes through (-3,-3) and (4,2) 36) The line goes through (-4,2) and (-5,3)

State whether the slope is Positive, Negative, 0 or Undefined:
37) y 38) g
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Write the Equation in Standard Form:

41) y=2x-3 42) y=2x+1
43) y+4=-4(x+3) 44) y+3=2(x+3)
45) y=2x-2 46) y=x-4

47) y-3=-5(x+4) 48) y-4=-3(x-4)
49) y-2=-5(x+5) 50) y+5=-(x+3)

Write the Equation in Slope-Intercept Form:
51) -3x-4y=4 52) 3x+3y=-1
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53) 3x+y=-2

55) x-3y=-5

57) y+1=2(x+3)

59) -4x+2y=-1

All rights reserved. This page is copyright 1998 Triple Threat Inc. Any violators will be prosecuted through full extent of the law.

http://www.easyworksheet.com/cgi-bin/alglws.pl

Page 6 of 6
54) y+1=3(x+3)
56) y-2=(x-4)
58) -3x+2y=-5
60) y+2=(x-4)
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